< 29H HEIT)U M BE> BIAEX O

3X+y=3 ---©

[f8] DZQIZHKA
3(-2y+6)+y=3
—-6y+18+y=3
-5y=-15
y=3 ...@
@FDIZKRA
X=—6+6 {X=O
x=0 (&)

(1){X=—2y+6---®

(3){y:—4x+2-~C)
—X-y=-5...(9
[(f#] ODZQIZKRA
—X—(-4x+2)=-5
—X+4X-2=-5
3x=-3
X=—1 @
@ZEDIZHRA
y=4+2=6 X=—1
(K){ y=6

[=]

(5) [2x==-y+4 .- (D
—2X+4y=6 ...

[f#] OZFQIZKA
—(-y+4)+4y=6
y—4+4y=6
5y=10
y=2 @

@ZFDIZHRA

2X=-2+4
2x =2 {X=1

x=1 (&)

U){y=3x—2”43
y=x+4 ®
[##] DEQIZKA
3X-2=Xx+4
2X=06
X=3 @
®FDIZKRA X=3
y=9-2=7 <K>{ =

(2){—x+2y=8 (D
X=5y-2 ...(9
[(f#] @zDIztA
—(5y-2)+2y=8
-5y+2+2y=8
-3y=6
y=_2 @
@ZEQIZHA
x=-10-2 {X=—12
X=-12 (&)

(4){3x—2y:4 (D
y=2Xx-3 ...(2

(2] @Dz A
3x—-2(2x-3)=4
3Xx—-4x+6=4
—X=-2
X=2 @

®@#QIzKRA
y=4-3=1 {X:Z
)

(6) [4x=3y=—6 @
3y=2x-4 ...

[f#] @zDIZRA
4x—(2x—4)=-6
4X—-2X+4=-6
2x=-10

X=-5 @
@FQIZHKRA
3y=-10-4 X=-
y=-14 {
_14
3
@){2y=5x—2 @D
2y=x+6 ...@
[#R] DEQIZKA
5x—2=X%X+6
4x =8
X =2 @
BRI A
2y =2+6

2y =8 {X:Z
y=4 (& Ly=4

S¢ P



